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For use with pages 286-289

5.5 Guided Practice

2. Sample answer: completing

the square since not every
quadratic equation can be
solved by factoring.

4. 1;(x + 1)?
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22.

. 9: (x — 3)?
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-2+ 3
8 +2i/3
-3+ J11

y = (x + 6)* — 36;
(=6, —36)

y=(x—4)2 + 15; (4, 15)
y=—(x—-7%>+4;,7,4
27.4 ft by 5.1 ft

5.5 Practice and Applications
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169; (x + 13)2

81 9\2
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529 (x_ 2)2
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0.01; (x — 0.1)2
0.64; (x — 0.8)2
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3 92. a. 4/ + 3w = 240
70. — 72. +3i/10
5 3w = 240 — 41
74. y = (x — 1)? — 10; (1, —10) b—go_ Y
76. y = (x + 13)2 — 101; 3
(—13, —101) b. 42.25 ft by 23.67 ft or
re v (s 5\2 53 17.75 ft by 56.33 ft
SR S 4° 94. about 30 ft and 6 ft
( 7 ) 96. C 98. A
2° 100. Sample answer: The vertex
80. y= —(x + )%+ 2;(~7,2) moves up from the position
of the other vertex so that
82. y = —2(x n 1)2 _ 2, the new vertex lies on the
2 2 X-axis.
(_ L E) 5.5 Mixed Review
22 102. —20  104. 60
2 —
84_y:%<x_%) _%, 106. 1.2 108. y =x — 6
110. y = —3x — 32
(2.-5) s
57 25 = T
112. y 4~ + 4
86. 4./6 —4=x,0orx=538
114. y
gg. > Y24 1026
2 - v=2_
90. about 46.4 ft 1
| =l 1 =
-— v
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116.

118.

Yy=x—2
/
1
/
;l 17 _—
- x—3y=
—7
y
y=2x+ 3/
1
—1 X
—1
y=2x—3
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